E-10hp

Reactor E-10hp 27 mf# U—2BEER (M)

EHH. BEBAEES : 17.2Mpa(172bar) ety | AROEAE 34 4% 5 4 64 74

HE| B Gl LiTBUN
(/) G ZiTRUN ZiTRUN ZiTBUN ZiTBUN ZiTRUN

MHHE :3.84/min, EE£ : 108kg 36 EI#ALY 48 EIFA L 60 [El$A L 72 [E]$A L 84 [E#A LY
@ 7 v % —A&fk (ReactorE —10hp 230V) 1| & 2,789,000 3,012,120

Xe—&—Fk—223¥ ra—5— (A, BRLEHAMAH)
O A= I EK—21/4 x30m 1|tk 518,000 559,440

KERNLTFEE—R—2147
@A VRTL—HY - T7a—a AP (2929) 1|tk 283,000 305,640

XBE~ A > BB = #980~100cm
@YV TRTL—H> - Ty I MGH/NERA 0| v b 0 0

XBE~ A BiERR = #925~40cm
OFZLRyTTL (244 £v bk 0tk 0 0

(47" -2 2 &, I7-EREKIT #FIE)
OISO — LIEFAARIEIRHE (N FIxd—) 1| & 65,000 70,200
=)
OREISINR— LEBRIEIPHE (N> FIFH—) 1| & 65,000 70,200
(LY>m)
OAPH VEFTE - JHFE/—VF vy b 1|tk 71,000 76,680
INETA 3,791,000 4,094,280
ORI TAEy b7y TE 1 177,000 191,160
/NETB 177,000 191,160
B 127,764 100,332 81,864 73,764 70,308
e 3,968,000 4,285,440 4,599,504 4,815,936 4,911,840 5,311,008 5,905,872




E-XP2

Reactor E-XP2 93mftkk U-2REER (M)
. R C
BB, BBHIEES : 240Mpa(240bar) ‘ i 3% 4 5 % 6% 74
HE| B Ll Fiad
() (/) B B B B B

MHHE:7.64/min, B8 : 159%g 36 [E#A L 48 = 60 [E1$4 L 72 @ 84 [Eh L
@ 7o 2 —Afk (Reactor2 E-XP2 230V) 11 & 2,706,000 2,922,480

ALEfvXE2—Fv b 11 & 59,000 63,720
@5Ht — % —FK—23/8x15m 6| = 1,553,000 1,677,240
HAL— & —h—XFTHAL/4%3m 1] =& 118,000 127,440
@< RTL—Hyv - -72—Y3vAP (2929) 1] & 283,000 305,640

XRME~H > BfEkR =%I80~100cm
QYT RXTL—Hv - RvTF v MGE/NERA oty r 0 0

XERME A~ BEkR =125~40cm
OFZLFEYTTL (2448) v b 1|ty bk 506,000 546,480

(W7 -2 2 A&, 17-BECEKITHFHE)
@ISO K 7 LAEAARIESEE CHYLER) 0| & 0
ORESIN F 5 LAEFABREMLHE (PHLRE) 1| & 95,000 102,600
OAPHVE[FELE - HFE -V xy b 1|ty b 71,000 76,680
NEEA 5,391,000 5,822,280
O HBAty F Ty TE 1 177,000 191,160
/NEHB 177,000 191,160
5 179,280 140,724 114,912 103,464 98,712
ErE L] 5,568,000 6,013,440 6,454,080 6,754,752 6,894,720 7,449,408 8,291,808




